APPENDIX: PREVENTIVE HEALTH

By Medical Group and Clinic

ANNUAL HEALTH CARE QUALITY REPORT

2020 REPORT YEAR (2019 DATES OF SERVICE)

mncm.org

mnhealthscores.org



TABLE OF CONTENTS

PERFORMANCE BY MEDICAL GROUP

- 2 Chlamydia Screening in Women
- 6 Colorectal Cancer Screening

PERFORMANCE BY CLINIC

9 Colorectal Cancer Screening

PERFORMANCE BY MEDICAL GROUP CHLAMYDIA SCREENING IN WOMEN

2020 report year (2019 dates of service)

CHLAMYDIA SCREENING IN WOMEN 2020 report year (2019 dates of service)					
MEDICAL GROUP	Performance	Patients	Rate	95% CI Lower	95% CI Upper
MEDICAL GROUP AVERAGE		75,408	53.4%	Lower	орре:
Adefris & Toppin Women's Specialists	•	42	66.7%	51.6%	79.0%
All About Children Pediatrics - Children's Health Network	•	75	53.3%	42.2%	64.2%
Allina Health	A	8,615	62.8%	61.8%	63.8%
Allina Health Apple Valley Medical Clinic	▼	215	43.3%	36.8%	49.9%
Alomere Health	A	399	63.4%	58.6%	68.0%
Altru Health System	▼	1,083	32.5%	29.8%	35.3%
Amery Hospital and Clinic	•	84	45.2%	35.0%	55.9%
Avera Medical Group - Pipestone	•	58	41.4%	29.6%	54.2%
Avera Medical Group- Marshall	▼	269	40.1%	34.5%	46.1%
Avera Medical Group- McGreevy Clinic, United Medical Center, Worthington Speciality Clinic	•	175	28.6%	22.4%	35.7%
Brown Clinic	▼	31	25.8%	13.7%	43.2%
CCM Health	▼	89	38.2%	28.8%	48.6%
CentraCare Health	A	3,485	59.3%	57.6%	60.9%
Central Pediatrics		316	74.1%	68.9%	78.6%
Chaska Urgent Care	•	39	51.3%	36.2%	66.1%
Child and Teen Medical Center	•	87	52.9%	42.5%	63.0%
Children's Clinic Network	▼	934	41.3%	38.2%	44.5%
Children's Minnesota	▼	416	47.6%	42.8%	52.4%
Clinic Sofia Ob/Gyn	•	70	57.1%	45.5%	68.1%
Community University Health Care Center	A	811	64.1%	60.8%	67.3%
Cuyuna Regional Medical Center	▼	159	41.5%	34.1%	49.3%
Dawson Clinic	▼	30	20.0%	9.5%	37.3%
Dulcimer Medical Center	▼	75	26.7%	18.0%	37.6%
Duluth Family Medicine Clinic (Formerly Duluth Family Practice Center)	•	51	49.0%	35.9%	62.3%
Eagan Valley Pediatrics	_	42	21.4%	11.7%	35.9%
Edina Sports Health & Wellness	•	54	66.7%	53.4%	77.8%
Emergency Physicians, P.A.	•	83	48.2%	37.8%	58.8%
Entira Family Clinics (formerly Family Health Services MN)	A	856	68.5%	65.3%	71.5%
Essentia Health	▼	3,928	38.2%	36.7%	39.7%
Face to Face Health & Counseling Service, Inc.		167	86.8%	80.9%	91.1%
Fairview Health Services		5,370	60.8%	59.5%	62.1%

CHLAMYDIA SCREENING IN WOMEN 2020 report year (2019 dates of service)

2020 report year (2019 dates of service)						
MEDICAL GROUP	Performance	Patients	Rate	95% CI Lower	95% CI Upper	
MEDICAL GROUP AVERAGE		75,408	53.4%	Lower	Горрег	
Fairview Mesaba Clinics	▼	200	45.0%	38.3%	51.9%	
Family Practice Medical Center of Willmar	▼	153	32.7%	25.8%	40.5%	
Family Tree Clinic - Neighborhood HealthCare		F2	E0.60/	46.40/	74.00/	
Network	•	52	59.6%	46.1%	71.8%	
France Avenue Family Physicians - Minnesota	_	C1	27.70/	26.60/	E0 20/	
Healthcare Network	V	61	37.7%	26.6%	50.3%	
Gateway Family Health Clinic	▼	147	40.8%	33.2%	48.9%	
Glencoe Regional Health Services	▼	173	8.1%	4.9%	13.1%	
Glenwood Medical Center	▼	84	22.6%	15.0%	32.6%	
Grand Itasca Clinic	▼	346	41.9%	36.8%	47.2%	
Gundersen Health System	•	172	46.5%	39.2%	54.0%	
HealthPartners Clinics	A	7,229	70.6%	69.5%	71.6%	
Hennepin Healthcare	A	1,003	66.8%	63.8%	69.6%	
Hudson Physicians	▼	333	32.7%	27.9%	37.9%	
Hutchinson Health	▼	318	38.1%	32.9%	43.5%	
Infinite Health Collaborative	▼	153	42.5%	34.9%	50.4%	
Lake Region Healthcare	▼	241	30.3%	24.8%	36.4%	
Lake View Clinic - Two Harbors	•	38	42.1%	27.9%	57.8%	
Lakeview Clinic	▼	574	41.8%	37.8%	45.9%	
Lakewood Health System	▼	256	40.6%	34.8%	46.7%	
Mankato Clinic, Ltd.	•	1,028	53.1%	50.1%	56.1%	
Mayo Clinic	▼	552	42.8%	38.7%	46.9%	
Mayo Clinic Health System - Fairmont	▼	110	34.5%	26.3%	43.8%	
Mayo Clinic Health System - Franciscan Healthcare in La Crosse	•	115	36.5%	28.3%	45.6%	
Mayo Clinic Health System - Northwest Wisconsin Region	•	244	46.7%	40.6%	53.0%	
Mayo Clinic Health System - Southeast Minnesota Region	•	1,202	43.3%	40.5%	46.1%	
Mayo Clinic Health System - Southwest Minnesota Region	•	651	45.0%	41.2%	48.8%	
Mayo Clinic Health System - St. James	•	39	38.5%	24.9%	54.1%	
MedExpress Urgent Care	•	291	59.1%	53.4%	64.6%	
Mid Dakota Clinic	▼	222	27.5%	22.0%	33.7%	
Mille Lacs Health System	•	53	45.3%	32.7%	58.5%	
Minnesota Women's Care	•	89	51.7%	41.5%	61.8%	
MinuteClinic	•	482	51.9%	47.4%	56.3%	
Neighborhood Healthsource	A	54	79.6%	67.1%	88.2%	
North Memorial	▼	908	49.6%	46.3%	52.8%	
Northern Lights Pediatric and Adolescent Medicine	▼	49	28.6%	17.8%	42.4%	

CHLAMYDIA SCREENING IN WOMEN 2020 report year (2019 dates of service) 95% CI 95% CI MEDICAL GROUP Performance **Patients** Rate Lower Upper 53.4% MEDICAL GROUP AVERAGE 75,408 206 50.0% Northfield Hospital + Clinics 43.2% 56.8% 76.5% 86.5% NorthPoint Health & Wellness Center 223 82.1% Northwest Family Physicians 218 45.9% 39.4% 52.5% Obstetrics and Gynecology Associates 347 48.4% 43.2% 53.7% Olmsted Medical Center 560 39.1% 35.2% 43.2% Ortonville Area Health Services-Northside Medical 46 26.4% 53.5% 39.1% Clinic 70.5% 71.7% Park Nicollet Health Services 5,766 69.3% Parkview Medical Clinic - Minnesota Healthcare 60 33.3% 22.7% 45.9% Pediatric & Young Adult Medicine 149 37.6% 30.2% 45.6% Pediatric Services - Children's Physician Network 108 34.3% 26.0% 43.6% 141 38.3% 30.7% 46.5% Perham Health Planned Parenthood Minnesota, North Dakota, 1,099 84.6% 82.4% 80.1% South Dakota Premier OB/GYN of Minnesota 50.0% 46.4% 53.6% 722 Raiter Clinic, LTD - IHN 69 33.3% 23.4% 45.1% Renville County Hospital and Clinics 63 62.7% 50.8% 38.8% **Ridgeview Clinics** 430 45.3% 40.7% 50.1% 79 46.4% RiverView Health 35.4% 25.8% Riverwood Healthcare Center 97 28.9% 20.8% 38.6% 61 Rural Health Care, Inc 57.4% 44.9% 69.0% Sanford Health 5,299 33.7% 32.5% 35.0% 39.2% Sartell Pediatrics - IHN 38 23.7% 13.0% Sawtooth Mountain Clinic 35 42.9% 28.0% 59.1% Scandia Clinic 69 53.8% 42.0% 31.1% Scenic Rivers Health Services 30 40.0% 24.6% 57.7% South Lake Pediatrics 269 43.5% 37.5% 32.0% 474 Southdale Pediatric Associates, Ltd 30.8% 26.8% 35.1% 32 Southside Community Health Services 90.6% 75.8% 96.8% 166 50.6% 43.1% 58.1% St. Croix Regional Medical Center 39.5% 47.2% St. Luke's Clinics 626 43.3% 623 37.2% 33.5% 41.1% Stellis Health, PA Stevens Community Medical Center 95 29.5% 21.2% 39.3% Swift County Benson Health Services 61 44.3% 32.5% 56.7% 45.1% Tri-County Health Care 104 35.6% 27.0%

▲ Above statewide average ● Average ▼ Below statewide average

Medical groups/clinics with less than 30 patients are not included in tables

105

64

109

207

Trinity Health

United Family Medicine

United Hospital District Clinic

Unity Family Healthcare, Family Medical Center

34.3%

45.3%

24.8%

44.4%

25.9%

33.7%

17.6%

37.8%

43.8%

57.4%

33.6%

51.3%

CHLAMYDIA SCREENING IN WOMEN 2020 report year (2019 dates of service) 95% CI 95% CI MEDICAL GROUP Performance **Patients** Rate Lower Upper MEDICAL GROUP AVERAGE 75,408 53.4% UnityPoint Health Clinics 81 44.4% 34.1% 55.3% University of Minnesota Physicians 686 59.9% 56.2% 63.5% Vibrant Health Family Clinics and Minnesota Health 86 46.5% 36.3% 57.0% Network 299 Voyage Healthcare 45.5% 39.9% 51.2% Wayzata Children's Clinic 220 25.6% 37.8% 31.4% Welia Health 202 45.5% 38.8% 52.4% West Side Community Health Services 324 69.8% 64.5% 74.5% 29.0% Western Wisconsin Health 65 40.0% 52.1% Westfields Hospital and Clinic 104 51.9% 42.4% 61.3% Williams Integracare Clinic 55 61.8% 48.6% 73.5% Winona Health Services V 374 41.2% 36.3% 46.2%

COLORECTAL CANCER SCREENING

2020 report year (2019 dates of service)

COLORECTAL CANCER SCREENING					
2020 report year (2019 dates of service)					
MEDICAL GROUP	Performance	Patients	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		1,419,934	73.2%		
AALFA Family Clinic	A	1,247	77.0%	73.0%	1.05
Adefris & Toppin Women's Specialists	•	650	74.6%	73.5%	1.01
Advanced Medical Clinic	▼	60	16.7%	61.0%	0.27
Allina Health	▼	218,676	73.8%	74.6%	0.99
Alomere Health	A	8,152	82.0%	74.7%	1.10
Altru Health System	▼	23,338	72.3%	74.2%	0.97
Amery Hospital and Clinic	▼	4,762	70.6%	73.1%	0.97
Allina Health Apple Valley	▼	8,752	61.1%	75.8%	0.81
Appleton Area Health Services	▼	372	61.3%	72.4%	0.85
Avera Medical Group	A	8,878	75.7%	72.9%	1.04
Boynton Health Service	▼	652	58.0%	72.9%	0.80
CCM Health	▼	3,087	56.1%	73.9%	0.76
Cedar Riverside People's Center	▼	1,124	21.7%	57.9%	0.38
CentraCare Health	A	56,502	79.6%	73.3%	1.09
Clinic Sofia Ob/Gyn	A	960	85.6%	73.5%	1.17
Community Memorial Hospital	▼	67	53.7%	69.9%	0.77
Cromwell Medical Clinic PLLC - IHN	▼	453	64.9%	69.3%	0.94
Cuyuna Regional Medical Center	▼	6,874	66.6%	73.3%	0.91
Dawson Clinic	▼	781	59.4%	73.3%	0.81
Dr. VM Baich, PA	▼	153	31.4%	70.6%	0.44
Duluth Family Medicine Clinic (Formerly Duluth Family Practice Center)	•	1,087	59.9%	64.1%	0.93
Edina Sports Health & Wellness		2,314	79.5%	74.7%	1.06
Entira Family Clinics (formerly Family Health		20.224	75.00/	72.00/	
Services MN)		29,331	75.8%	73.9%	1.03
Essentia Health	A	98,631	77.7%	72.7%	1.07
Fairview Health Services	A	142,684	75.7%	73.3%	1.03
Fairview Mesaba Clinics	A	6,388	74.1%	71.2%	1.04
Family Practice Medical Center of Willmar	▼	3,230	69.0%	70.8%	0.97
France Avenue Family Physicians - Minnesota	_	2.700	72.00/	70.00/	
Healthcare Network	V	2,769	72.0%	76.0%	0.95
Glencoe Regional Health Services	▼	3,599	68.5%	74.1%	0.92
Glenwood Medical Center	▼	2,451	57.9%	74.4%	0.78
Grand Itasca Clinic	•	7,935	72.5%	72.0%	1.01
Granite Falls Municipal Hospital & Manor Clinic	▼	1,432	52.7%	71.7%	0.73
Gundersen Health System	A	3,006	77.0%	73.4%	1.05

▲ Above statewide average ◆ Average ▼ Below statewide average Medical groups/clinics with less than 30 patients are not included in tables

COLORECTAL CANCER SCREENING 2020 report year (2019 dates of service) Actual / Actual Expected MEDICAL GROUP Performance Patients Expected Rate Rate Ratio STATEWIDE AVERAGE 1,419,934 73.2% HealthPartners Central Minnesota Clinics 5,902 74.8% 72.1% 1.04 1.02 HealthPartners Clinics 102,636 75.1% 73.8% V 0.82 Hendricks Community Hospital Association 810 60.6% 74.3% 0.96 60.4% 62.8% Hennepin Healthcare 18,034 **Hutchinson Health** 71.4% 0.99 7,208 70.3% Indian Health Board of Minneapolis 32.4% 56.8% 0.57 507 0.58 Kittson Healthcare Clinic 1.079 43.4% 74.4% 0.94 Lac Qui Parle Clinic 525 69.1% 73.4% 0.86 Lake Region Healthcare 7,327 63.8% 73.9% 0.75 Lake Superior Community Health Center 1,467 48.5% 64.7% Lake View Clinic - Two Harbors 1,864 65.0% 72.7% 0.89 Lakewood Health Center Clinic 996 54.6% 0.75 73.1% 1.04 Lakewood Health System 4,996 73.1% 70.6% 0.98 Life Medical 749 67.2% 68.7% 0.70 636 49.8% 71.7% Madelia Community Hospital & Clinic Mankato Clinic, Ltd. 13,283 80.9% 72.0% 1.12 47,617 1.10 Mayo Clinic 82.2% 74.9% 1.00 Mayo Clinic Health System 65,175 73.7% 73.8% 455 70.6% 74.5% 0.95 Meeker Memorial Clinic 0.99 Metropolitan Obstetrics & Gynecology 72.0% 72.9% 2,233 0.77 Mille Lacs Health System 2,433 53.4% 69.2% 0.98 Minnesota Women's Care 72.0% 73.3% 1,921 612 60.1% 0.45 Native American Community Clinic 27.0% 32.0% 56.6% 0.57 Neighborhood Healthsource 1,522 North Memorial 37,329 73.6% 0.94 69.5% 0.76 North Valley Health Center 60 56.7% 74.9% 0.87 Northfield Hospital + Clinics 3,185 64.5% 73.9% NorthPoint Health & Wellness Center 0.92 3,939 48.3% 52.7% 0.71 Northwest Family Physicians 6,831 51.9% 73.2% 69.8% 73.6% 0.95 Oakdale Ob/Gyn 2,605 0.89 66.3% 74.1% **OBGYN West** 2,184 Obstetrics and Gynecology Associates 8.254 73.3% 1.17 85.6% Olmsted Medical Center 16,685 55.0% 70.0% 0.79 0.37 Open Cities Health Center 1,654 20.7% 55.9% 0.69 57.5% Open Door Health Center 625 39.5% Ortonville Area Health Services-Northside Medical 80.5% 72.2% 1,455 Clinic 1.11 Park Nicollet Health Services 77.1% 74.9% 1.03 112,086

COLORECTAL CANCER SCREENING 2020 report year (2019 dates of service) Actual / Actual Expected MEDICAL GROUP Performance Patients Expected Rate Rate Ratio STATEWIDE AVERAGE 1,419,934 73.2% Parkway Family Physicians-Minnesota Healthcare 62 50.0% 73.1% 0.68 Network 1.00 Perham Health 3,097 72.8% 73.1% Planned Parenthood Minnesota, North Dakota, 368 0.0% 59.8% 0.00 South Dakota 0.71 Prairie Ridge Hospital & Health Services 51.7% 72.9% 1,632 0.84 1.209 58.9% 70.5% Rainy Lake Medical Center 0.94 Olivia Hospital & Clinic 1,701 68.6% 72.9% 0.97 Richfield Medical Group 2,041 73.1% 75.5% 0.86 RiverView Health 1,903 61.0% 71.1% Riverwood Healthcare Center 4,674 71.9% 72.7% 0.99 Sanford Health 123,968 74.7% 73.8% 1.01 0.85 Sawtooth Mountain Clinic 73.3% 1,880 62.6% 0.72 Scandia Clinic 52.0% 487 72.2% 0.73 Scenic Rivers Health Services 52.5% 71.9% 3,399 Sibley Medical Center DBA Ridgeview Sibley 69.5% 1,222 70.3% Medical Center 0.99 0.80 Sleepy Eye Medical Center 1,161 59.2% 73.9% 3,014 80.9% 74.7% 1.08 Southdale Ob/Gyn Consultants Southside Community Health Services 556 51.7% 1.13 58.5% 0.86 St. Croix Regional Medical Center 8,950 63.2% 73.4%

1,618 82.4% 74.5% 1.11 1.02 Westfields Hospital and Clinic 4,101 76.5% 74.9% Williams Integracare Clinic 1,271 70.2% 72.0% 0.97 0.77 Winneshiek Medical Center-Mabel Clinic 226 74.2% 57.5% 62.7% 72.7% 0.86 8,580 0.02 60.3% Zumbro Valley Health Center 72 1.4% ▲ Above statewide average ● Average ▼ Below statewide average

1,587

24,582

10,644

1,668

1,519

4,225

4,212

5,081

13,141

15,516

5,934

5,655

69.1%

68.3%

72.8%

41.1%

66.3%

66.5%

54.4%

74.5%

70.6%

73.3%

65.3%

34.6%

74.8%

72.3%

74.7%

73.9%

71.8%

71.6%

66.2%

72.5%

69.9%

74.8%

71.8%

54.2%

0.92

0.95

0.97

0.56

0.92

0.93

0.82

1.03

1.01

0.98

0.91

0.64

Medical groups/clinics with less than 30 patients are not included in tables

Gundersen Saint Elizabeths Hospital and Clinics

Unity Family Healthcare, Family Medical Center

Stevens Community Medical Center

Swift County Benson Health Services

University of Minnesota Physicians

West Side Community Health Services

St. Luke's Clinics

Stellis Health, PA

Tri-County Health Care

United Family Medicine

Winona Health Services

Voyage Healthcare

Welia Health

Western ObGyn

PERFORMANCE BY CLINIC COLORECTAL CANCER SCREENING

2020 report year (2019 dates of service)

COLORECTAL CANCER SCREENING					
2020 report year (2019 dates of service) CLINIC	Performance	Patients	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		1,419,934	73.2%		
AALFA Family Clinic-MHN	A	1,247	77.0%	73.0%	1.05
Adefris & Toppin Women's Specialists	•	650	74.6%	73.5%	1.01
Advanced Medical Clinic, Inc.	▼	60	16.7%	61.0%	0.27
AHC - Amery	•	3,609	72.7%	73.2%	0.99
AHC - Clear Lake	▼	141	58.2%	73.1%	0.80
AHC - Luck	▼	615	66.2%	72.5%	0.91
AHC - Turtle Lake	▼	397	63.2%	72.3%	0.87
Alexandria Clinic, A Service of Alomere Health	A	7,461	82.0%	74.8%	1.10
Allina Health - Abbott Northwestern General	_		02.50/	77.20/	1.00
Medicine Associates - Edina	A	7,602	83.5%	77.2%	1.08
Allina Health - Abbott Northwestern General	_	F0F	46.20/	CO F0/	0.67
Medicine Associates - Mpls	▼	585	46.3%	69.5%	0.67
Allina Health - Annandale	▼	1,368	66.3%	74.6%	0.89
Allina Health - Bandana Square	•	6,798	71.9%	72.1%	1.00
Allina Health - Blaine	•	3,317	74.9%	75.2%	1.00
Allina Health - Bloomington	•	2,901	72.6%	74.3%	0.98
Allina Health - Brooklyn Park	•	2,034	73.4%	72.3%	1.02
Allina Health - Buffalo	•	1,422	77.0%	74.4%	1.04
Allina Health - Buffalo Crossroads	•	3,071	74.0%	74.4%	0.99
Allina Health - Buffalo Specialty Clinic	▼	199	58.3%	74.5%	0.78
Allina Health - Burnsville	▼	2,126	71.5%	74.3%	0.96
Allina Health - Cambridge	▼	8,879	71.6%	73.8%	0.97
Allina Health - Centennial Lakes	A	5,971	78.2%	75.4%	1.04
Allina Health - Champlin	•	5,445	77.1%	75.5%	1.02
Allina Health - Chaska	•	3,965	76.7%	75.9%	1.01
Allina Health - Cokato	▼	1,036	65.8%	74.1%	0.89
Allina Health - Coon Rapids	▼	17,312	71.3%	74.1%	0.96
Allina Health - Cottage Grove	▼	5,432	66.4%	74.6%	0.89
Allina Health - Courage Kenny Rehabilitation	_				
Associates - Golden Valley	\	264	26.5%	70.4%	0.38
Allina Health - Dean Lakes	•	2,074	72.5%	75.0%	0.97
Allina Health - Eagan	A	5,346	77.6%	74.6%	1.04
Allina Health - Eagan Women's Health	•	500	73.6%	73.1%	1.01
Allina Health - East Lake Street	▼	1,291	61.2%	69.4%	0.88

COLORECTAL CANCER SCREENING					
2020 report year (2019 dates of service)					
CLINIC	Performance	Patients	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		1,419,934	73.2%		
Allina Health - Edina Family Physicians	•	8,040	75.3%	76.1%	0.99
Allina Health - Elk River	•	2,781	72.9%	74.9%	0.97
Allina Health - Faribault	A	5,816	76.8%	73.6%	1.04
Allina Health - Farmington	▼	1,692	70.5%	75.2%	0.94
Allina Health - Forest Lake	•	4,728	75.1%	75.2%	1.00
Allina Health - Fridley	▼	2,605	64.7%	72.4%	0.89
Allina Health - Greenway	▼	1,039	63.4%	73.0%	0.87
Allina Health - Hastings	•	8,106	75.3%	75.9%	0.99
Allina Health - Highland Park	•	1,958	74.4%	74.6%	1.00
Allina Health - Hopkins	▼	557	63.9%	74.4%	0.86
Allina Health - Inver Grove Heights	•	2,772	71.7%	73.8%	0.97
Allina Health - Isanti	•	1,733	71.4%	73.9%	0.97
Allina Health - Isles	A	2,636	79.9%	74.8%	1.07
Allina Health - Lakeville	•	2,589	73.9%	75.8%	0.97
Allina Health - Maple Grove	▼	2,540	69.9%	74.9%	0.93
Allina Health - Maplewood	▼	4,053	68.9%	72.0%	0.96
Allina Health - Mercy Women's Health	•	640	70.0%	72.4%	0.97
Allina Health - New Ulm Medical Center	•	7,079	74.1%	74.9%	0.99
Allina Health - Nicollet Mall	•	2,765	73.0%	71.8%	1.02
Allina Health - Nininger Road	▼	43	41.9%	75.5%	0.55
Allina Health - Northfield	•	6,081	74.8%	75.2%	1.00
Allina Health - Oakdale Clinic	▼	784	68.9%	73.8%	0.93
Allina Health - Plymouth	▼	7,599	73.7%	75.7%	0.97
Allina Health - Ramsey	▼	5,546	72.6%	75.1%	0.97
Allina Health - Richfield	A	7,017	80.6%	75.4%	1.07
Allina Health - Savage	•	2,375	76.6%	74.7%	1.02
Allina Health - Shakopee	▼	3,515	68.5%	74.3%	0.92
Allina Health - Sharpe Dillon Cockson & Associates	A	2,421	85.9%	77.2%	1.11
Allina Health - Shoreview	A	7,111	78.0%	75.5%	1.03
Allina Health - St. Francis Health Services - Jordan	▼	130	40.0%	72.5%	0.55
Allina Health - St. Michael	▼	1,381	68.2%	75.0%	0.91
Allina Health - United Medical Specialties	•	2,974	74.4%	74.3%	1.00
Allina Health - United Women's Health	A	402	80.1%	72.3%	1.11
Allina Health - Uptown	A	1,348	76.6%	70.9%	1.08
Allina Health - Vadnais Heights	•	2,502	77.7%	76.0%	1.02
Allina Health - West St. Paul	▼	4,100	68.2%	72.3%	0.94
Allina Health - Winthrop Area Clinic - New Ulm Med Ctr	•	292	73.0%	73.4%	0.99
Allina Health - Women's Health Consultants - Mpls	▼	614	55.2%	72.5%	0.76

COLORECTAL CANCER SCREENING								
2020 report year (2019 dates of service) CLINIC	Performance	Patients	Actual Rate	Expected Rate	Actual / Expected Ratio			
STATEWIDE AVERAGE		1,419,934	73.2%					
Allina Health - Woodbury	•	9,374	74.7%	75.1%	1.00			
Altru Health System - Cavalier	▼	36	50.0%	78.6%	0.64			
Altru Health System - Crookston	•	1,447	70.3%	73.5%	0.96			
Altru Health System - Devils Lake	▼	2,111	69.7%	73.5%	0.95			
Altru Health System - Drayton	▼	350	69.1%	76.5%	0.90			
Altru Health System - East Grand Forks	•	635	69.3%	73.3%	0.95			
Altru Health System - Erskine	▼	135	56.3%	74.5%	0.76			
Altru Health System - Fertile	•	126	65.9%	73.4%	0.90			
Altru Health System - Grand Forks	▼	14,835	73.1%	74.3%	0.98			
Altru Health System - Greenbush	▼	278	64.4%	73.6%	0.87			
Altru Health System - Red Lake Falls	▼	279	65.6%	75.1%	0.87			
Altru Health System - Roseau	•	2,515	74.6%	74.2%	1.01			
Altru Health System - Warroad	•	578	75.6%	73.7%	1.03			
Apple Valley Medical Clinic - Family Practice	▼	8,752	61.1%	75.8%	0.81			
Appleton Clinic	▼	372	61.3%	72.4%	0.85			
Associates In Women's Health - Edina	A	866	91.2%	72.8%	1.25			
Associates In Women's Health - Minneapolis	A	161	88.2%	71.4%	1.24			
Avera - Pipestone County Medical Center	A	2,166	86.3%	72.7%	1.19			
Avera Medical Group - Marshall	▼	3,238	66.2%	73.0%	0.91			
Avera Medical Group - Windom	A	790	84.8%	73.5%	1.15			
Avera Medical Group - Worthington	A	2,102	83.8%	72.8%	1.15			
Boynton Health Service	▼	620	58.1%	72.8%	0.80			
Boynton Health Service St. Paul	•	32	56.3%	74.5%	0.76			
Brooten Medical Center	▼	275	54.9%	72.5%	0.76			
Carris Health - Litchfield East Clinic	▼	1,484	63.1%	72.4%	0.87			
Carris Health - Litchfield West Clinic	▼	1,468	66.5%	73.4%	0.91			
Carris Health - New London Clinic	A	1,873	80.9%	75.3%	1.07			
Carris Health - Redwood Clinic	▼	1,475	64.8%	73.2%	0.89			
Carris Health - Willmar Main Clinic	•	6,045	72.0%	73.0%	0.99			
CCM HEALTH	▼	3,087	56.1%	73.9%	0.76			
Cedar Riverside People's Center - People's Center Medical Clinic	▼	1,124	21.7%	57.9%	0.38			
Centracare Clinic - Albany	A	1,558	79.5%	75.0%	1.06			
CentraCare Clinic - Becker	A	1,366	80.5%	74.8%	1.08			
CentraCare Clinic - Big Lake	A	1,395	78.1%	73.9%	1.06			
CentraCare Clinic - Northway		3,914	85.3%	72.2%	1.18			
Centracare Clinic - SCMG Clearwater Medical Clinic	•	1,440	78.0%	75.4%	1.03			
Centracare Clinic - SCMG Cold Spring Medical Clinic	A	1,091	84.4%	74.6%	1.13			
Centracare Clinic - SCMG Northwest	_	9,476	82.2%	73.2%	1.12			

COLORECTAL CANCER SCREENING								
2020 report year (2019 dates of service)					Actual /			
CLINIC	Performance	Patients	Actual Rate	Expected Rate	Expected Ratio			
STATEWIDE AVERAGE		1,419,934	73.2%					
Centracare Clinic - SCMG St. Cloud Medical Group -		2 000	82.1%	72.50/	1 12			
South		3,899	82.1%	72.5%	1.13			
CentraCare Clinic - St. Joseph		1,925	83.7%	73.3%	1.14			
CentraCare Health - Family Health Center	•	1,602	62.9%	64.9%	0.97			
CentraCare Health - Long Prairie	•	1,653	73.5%	72.0%	1.02			
CentraCare Health - Melrose	A	2,139	83.1%	74.7%	1.11			
CentraCare Health - Paynesville Clinic		2,035	79.7%	74.0%	1.08			
CentraCare Health - Paynesville-Eden Valley	•	448	75.5%	73.3%	1.03			
CentraCare Health - Paynesville-Richmond		972	80.1%	73.9%	1.08			
CentraCare Health - Sauk Centre	A	1,974	80.6%	74.0%	1.09			
CentraCare Health Plaza - Internal Medicine		2,594	91.4%	74.4%	1.23			
CentraCare Health Plaza - Obstetrics and Women's Clinic	A	919	85.6%	71.2%	1.20			
CentraCare River Campus - Internal Medicine		3,684	90.6%	74.7%	1.21			
Clinic Sofia Ob/Gyn	A	775	86.1%	73.4%	1.17			
Clinic Sofia ObGyn		185	83.8%	73.6%	1.14			
Clinton Clinic	•	41	80.5%	72.2%	1.11			
Community Medical Center Pierz	•	87	66.7%	73.1%	0.91			
Community Memorial Hospital Family and		67	53.7%	69.9%	0.77			
Specialty Clinic		01	55.1%0	09.9%	0.77			
Comprehensive Healthcare for Women and MN Women's Care Woodbury	•	1,032	75.7%	73.9%	1.02			
Coordinated Care Services	•	67	46.3%	60.0%	0.77			
Cromwell Medical Clinic, PLLC	•	453	64.9%	69.3%	0.94			
Cuyuna Regional Medical Center - Baxter	V	1,363	68.0%	73.0%	0.93			
Cuyuna Regional Medical Center - Breezy Point	▼	555	36.4%	74.5%	0.49			
Cuyuna Regional Medical Center - Crosby Clinic	•	4,186	73.9%	73.5%	1.01			
Cuyuna Regional Medical Center - Longville	▼	770	46.0%	71.7%	0.64			
Diamond Women's Center	A	1,239	81.7%	73.3%	1.11			
Dr VM Baich, PA	▼	153	31.4%	70.6%	0.44			
Duluth Family Medicine Clinic (formerly Duluth	_	1.007	50.00/	64.40/	0.00			
Family Practice Center)	V	1,087	59.9%	64.1%	0.93			
Edina Sports + Family Medicine	A	2,314	79.5%	74.7%	1.06			
EH Central Baxter Clinic	A	5,520	80.1%	72.9%	1.10			
EH Central Baxter Women's Specialty Clinic	•	223	63.2%	69.4%	0.91			
EH Central Brainerd Clinic	A	6,082	82.4%	73.8%	1.12			
EH Central Crosslake Clinic	A	1,050	79.8%	74.0%	1.08			
EH Central Emily Clinic	•	253	68.0%	73.1%	0.93			
EH Central Hackensack Clinic	▼	439	64.2%	70.7%	0.91			

COLORECTAL CANCER SCREENING							
2020 report year (2019 dates of service) CLINIC	Performance	Patients	Actual Rate	Expected Rate	Actual / Expected Ratio		
STATEWIDE AVERAGE		1,419,934	73.2%				
EH Central Pequot Lakes Clinic	•	959	70.8%	73.1%	0.97		
EH Central Pierz Clinic	•	596	73.5%	72.1%	1.02		
EH Central Pillager Clinic	A	687	84.1%	72.9%	1.15		
EH Central Pine River Clinic	•	1,193	69.2%	70.8%	0.98		
EH East Ashland Clinic	•	4,107	73.9%	72.7%	1.02		
EH East Chisholm Clinic	•	313	70.9%	71.1%	1.00		
EH East Deer River Clinic	A	1,535	85.3%	71.2%	1.20		
EH East Duluth Clinic 1st St	A	4,891	86.2%	72.3%	1.19		
EH East Ely Clinic	•	2,539	72.6%	74.0%	0.98		
EH East Grand Rapids Clinic	A	1,816	82.7%	71.6%	1.15		
EH East Hayward Clinic	A	3,571	76.9%	71.6%	1.07		
EH East Hermantown Clinic	A	4,889	80.6%	74.0%	1.09		
EH East Hibbing Clinic	A	1,747	76.2%	72.3%	1.05		
EH East International Falls Clinic	•	2,169	67.8%	70.1%	0.97		
EH East Lakeside Clinic	A	3,094	80.7%	74.3%	1.09		
EH East Lakewalk Clinic	A	2,815	82.0%	73.1%	1.12		
EH East Northern Pines Clinic	A	1,844	77.7%	72.4%	1.07		
EH East Proctor Clinic	A	1,317	77.8%	73.0%	1.06		
EH East Remer Clinic	•	111	64.9%	69.4%	0.93		
EH East Spooner Clinic	A	2,686	77.6%	72.9%	1.07		
EH East Superior Clinic	A	4,455	76.7%	72.3%	1.06		
EH East Virginia Clinic	•	3,136	73.4%	71.7%	1.02		
EH East Virginia Medical Arts	▼	145	59.3%	72.0%	0.82		
EH East West Duluth Clinic	A	4,875	80.3%	71.2%	1.13		
EH West 32nd Ave Clinic	▼	384	65.9%	73.1%	0.90		
EH West 52nd Avenue Clinic	A	1,059	78.5%	74.2%	1.06		
EH West 7 Day Clinic Osgood	▼	566	64.5%	72.9%	0.88		
EH West Ada Clinic	•	650	70.2%	71.6%	0.98		
EH West Bagely Clinic	•	308	65.6%	69.2%	0.95		
EH West Casselton Clinic	A	573	81.2%	75.4%	1.08		
EH West Detroit Lakes Clinic	A	4,203	78.4%	72.0%	1.09		
EH West Fosston Clinic	•	1,934	70.8%	71.0%	1.00		
EH West Frazee Clinic	A	523	77.8%	71.8%	1.08		
EH West Graceville Clinic	•	409	71.4%	73.1%	0.98		
EH West Jamestown Clinic	•	1,554	72.3%	72.2%	1.00		
EH West Lisbon	•	330	67.9%	74.3%	0.91		
EH West Mahnomen Clinic	•	119	64.7%	61.6%	1.05		
EH West Menahga Clinic	▼	673	66.9%	72.5%	0.92		
EH West Moorhead	A	1,599	79.9%	72.5%	1.10		

COLORECTAL CANCER SCREENING							
2020 report year (2019 dates of service)							
CLINIC	Performance	Patients	Actual Rate	Expected Rate	Actual / Expected Ratio		
STATEWIDE AVERAGE		1,419,934	73.2%				
EH West Oklee Clinic	•	33	45.5%	68.4%	0.66		
EH West Park Rapids Clinic	•	3,605	70.2%	71.7%	0.98		
EH West Pelican Rapids Clinic	A	271	79.7%	71.9%	1.11		
EH West South University Clinic	A	3,324	86.3%	75.2%	1.15		
EH West Valley City Clinic	▼	610	68.9%	74.2%	0.93		
EH West Wahpeton Clinic	A	1,878	78.8%	74.7%	1.06		
EH West Walker Clinic	A	605	80.3%	71.8%	1.12		
EH West West Acres Clinic	•	1,862	74.9%	73.7%	1.02		
EH West West Fargo Clinic	A	2,458	81.6%	74.4%	1.10		
Entira Family Clinics - Como/Roseville (formerly Family HealthServices Minnesota - Larpenteur Clinic)	•	2,401	74.0%	71.9%	1.03		
Entira Family Clinics - East Side (formerly Family HealthServices Minnesota - Maryland Clinic)	•	2,154	67.0%	68.9%	0.97		
Entira Family Clinics - Highland (formerly Family HealthServices Minnesota - Highland Family Physicians)	•	2,334	78.1%	74.2%	1.05		
Entira Family Clinics - Inver Grove Heights (formerly Family HealthServices Minnesota - Inver Grove Heights)	•	2,491	77.1%	74.3%	1.04		
Entira Family Clinics - North St. Paul (formerly Family HealthServices Minnesota - North St. Paul Clinic)	•	3,963	75.3%	73.4%	1.03		
Entira Family Clinics - Shoreview (formerly Family HealthServices Minnesota - Shoreview)	A	3,129	80.7%	75.6%	1.07		
Entira Family Clinics - Vadnais Heights (formerly Family HealthServices Minnesota - Vadnais Heights)	•	2,053	77.0%	75.1%	1.02		
Entira Family Clinics - West St. Paul (formerly Family HealthServices Minnesota - Gorman Clinic)	•	2,366	73.3%	73.2%	1.00		
Entira Family Clinics - White Bear Lake/Banning Ave (formerly Family Health Services MN Banning Clinic)	•	3,192	75.1%	75.2%	1.00		
Entira Family Clinics - Woodbury (formerly Family HealthServices Minnesota - Woodbury)	A	5,248	77.4%	74.8%	1.04		
Family Medical Center	A	4,916	74.6%	72.5%	1.03		
Family Practice Medical Center of Willmar	•	3,230	69.0%	70.8%	0.97		
France Avenue Family Physicians - Minnesota Healthcare Network	•	2,769	72.0%	76.0%	0.95		

COLORECTAL CANCER SCREENING								
2020 report year (2019 dates of service)								
CLINIC	Performance	Patients	Actual Rate	Expected Rate	Actual / Expected Ratio			
STATEWIDE AVERAGE		1,419,934	73.2%					
Glencoe Regional Health Services - Glencoe	▼	3,543	69.0%	74.1%	0.93			
Glencoe Regional Health Services - Lester Prairie	▼	39	35.9%	72.8%	0.49			
Glenwood Medical Center	▼	2,055	58.9%	74.7%	0.79			
Grand Itasca Clinic	•	7,935	72.5%	72.0%	1.01			
Granite Falls Health Clinic	▼	1,432	52.7%	71.7%	0.73			
Gundersen Health System - Harmony Clinic	•	247	70.9%	69.2%	1.02			
Gundersen Health System - Houston Clinic	•	472	70.6%	71.6%	0.99			
Gundersen Health System - La Crescent Clinic	A	1,528	82.6%	74.7%	1.11			
Gundersen Health System - Spring Grove Clinic	•	759	71.5%	73.1%	0.98			
Haugen OB/Gyn-Edina	•	1,042	76.6%	73.7%	1.04			
Haugen OB/Gyn-Minneapolis	•	221	80.1%	72.1%	1.11			
Haugen OB/Gyn-Plymouth	•	713	77.3%	73.2%	1.06			
HealthEast Clinic - Hugo	•	1,584	76.4%	75.9%	1.01			
HealthPartners - Andover	•	3,722	76.3%	75.5%	1.01			
HealthPartners - Anoka	•	4,701	74.1%	74.8%	0.99			
HealthPartners - Apple Valley	•	2,754	72.7%	74.6%	0.97			
HealthPartners - Arden Hills	A	4,402	81.4%	74.6%	1.09			
HealthPartners - Bloomington	•	3,859	73.6%	74.1%	0.99			
HealthPartners - Brooklyn Center		3,113	74.7%	71.4%	1.05			
HealthPartners - Como	A	6,872	76.1%	74.2%	1.03			
HealthPartners - Coon Rapids	•	4,042	74.7%	73.5%	1.02			
HealthPartners - Cottage Grove	▼	749	63.0%	73.5%	0.86			
HealthPartners - Ctr for Internatl Hlth	A	1,031	71.0%	62.7%	1.13			
HealthPartners - Curve Crest Clinic	•	15,846	76.9%	76.3%	1.01			
HealthPartners - Eagan	▼	1,649	71.5%	74.6%	0.96			
HealthPartners - Elk River	•	3,128	73.6%	74.6%	0.99			
HealthPartners - Highland Park	▼	851	63.5%	72.8%	0.87			
HealthPartners - Hlth Ctr for Women		2,972	83.6%	73.8%	1.13			
HealthPartners - Hugo	•	1,075	73.2%	75.2%	0.97			
HealthPartners - Inver Grove Heights	•	2,593	73.5%	73.5%	1.00			
HealthPartners - Lakeview Campus	▼	247	57.5%	74.2%	0.77			
HealthPartners - Lino Lakes	•	1,913	75.5%	75.1%	1.00			
HealthPartners - Mahtomedi Clinic	▼	611	60.6%	74.4%	0.81			
HealthPartners - Maplewood	A	3,863	74.7%	70.8%	1.05			
HealthPartners - Midway	•	1,921	65.9%	65.0%	1.01			
HealthPartners - Nokomis	•	1,266	72.6%	71.8%	1.01			
HealthPartners - Riverside	▼	2,512	66.0%	69.4%	0.95			
HealthPartners - Roseville	A	2,561	78.3%	74.6%	1.05			
HealthPartners - Smartcare Maplewood	•	289	67.5%	69.3%	0.97			

COLORECTAL CANCER SCREENING 2020 report year (2019 dates of service)								
CLINIC	Performance	Patients	Actual Rate	Expected Rate	Actual / Expected Ratio			
STATEWIDE AVERAGE		1,419,934	73.2%					
HealthPartners - Smartcare St. Paul	▼	233	58.4%	68.1%	0.86			
HealthPartners - Somerset Clinic	•	1,882	73.1%	75.4%	0.97			
HealthPartners - St Paul	•	4,274	68.7%	69.0%	1.00			
HealthPartners - University Ave	A	2,314	83.9%	71.8%	1.17			
HealthPartners - West	A	3,326	77.9%	74.5%	1.05			
HealthPartners - White Bear Lake	A	3,897	78.3%	76.2%	1.03			
HealthPartners - Woodbury	A	8,168	76.5%	74.5%	1.03			
HealthPartners Central Minnesota Clinics	A	5,902	74.8%	72.1%	1.04			
Hendricks Clinic	▼	684	60.2%	74.2%	0.81			
Hennepin Healthcare BE WELL CLINIC	▼	380	22.9%	74.3%	0.31			
Hennepin Healthcare Brooklyn Park Clinic	▼	1,350	58.1%	62.5%	0.93			
Hennepin Healthcare Center for Senior Care	▼	272	53.7%	69.4%	0.77			
Hennepin Healthcare Coordinated Care Clinic	•	159	55.4%	55.3%	1.00			
Hennepin Healthcare Downtown Medicine Clinic	•	7,887	62.3%	62.5%	1.00			
Hennepin Healthcare East Lake Clinic	•	998	60.4%	59.4%	1.02			
Hennepin Healthcare Golden Valley Clinic	A	718	73.0%	67.6%	1.08			
Hennepin Healthcare North Loop Clinic and Pharmacy	•	225	36.0%	64.5%	0.56			
Hennepin Healthcare Positive Care Clinic	▼	948	57.2%	62.5%	0.91			
Hennepin Healthcare Richfield Clinic	•	1,444	63.5%	63.9%	0.99			
Hennepin Healthcare St. Anthony Village Clinic	▼	382	59.7%	68.2%	0.88			
Hennepin Healthcare Whittier Clinic	•	3,014	62.5%	60.8%	1.03			
Hennepin Healthcare Women's Health and Wellness Clinic	•	221	38.9%	63.1%	0.62			
Hutchinson Health - Dassel Clinic	•	462	69.3%	72.4%	0.96			
Hutchinson Health - Hutchinson Clinic	•	6,746	70.4%	71.3%	0.99			
Indian Health Board of Minneapolis	▼	507	32.4%	56.8%	0.57			
Integracare Ltd dba Williams Clinic	•	1,271	70.2%	72.0%	0.97			
Ivanhoe Medical Center	▼	126	62.7%	75.2%	0.83			
Johnson Memorial Health Services - Boyd Clinic	•	42	73.8%	73.1%	1.01			
Johnson Memorial Health Services - Dawson Clinic	▼	739	58.6%	73.3%	0.80			
Kittson Memorial Clinic - Hallock	▼	761	42.4%	74.9%	0.57			
Kittson Memorial Clinic - Karlstad	▼	318	45.6%	73.0%	0.62			
Lac Qui Parle Clinic	•	525	69.1%	73.4%	0.94			
Lake Benton Medical Clinic - Avera	▼	115	47.8%	74.5%	0.64			
Lake Region Healthcare - Ashby Clinic	•	147	78.9%	75.6%	1.04			
Lake Region Healthcare - Barnesville Clinic	▼	629	50.4%	74.0%	0.68			
Lake Region Healthcare - Battle Lake Clinic	▼	533	58.7%	75.8%	0.77			

COLORECTAL CANCER SCREENING 2020 report year (2019 dates of service)								
CLINIC	Performance	Patients	Actual Rate	Expected Rate	Actual / Expected Ratio			
STATEWIDE AVERAGE		1,419,934	73.2%					
Lake Region Healthcare Clinic Services - Fergus Falls	▼	6,018	65.3%	73.7%	0.89			
Lake Superior Community Health Center - Duluth	▼	672	45.1%	63.8%	0.71			
Lake Superior Community Health Center-Superior	▼	795	51.3%	65.5%	0.78			
Lake View Clinic - Two Harbors	▼	1,864	65.0%	72.7%	0.89			
LakeWood Health Center Clinic	▼	996	54.6%	73.1%	0.75			
Lakewood Health System - Browerville Clinic	A	1,270	75.1%	71.2%	1.05			
Lakewood Health System - Eagle Valley Clinic	•	191	70.7%	69.5%	1.02			
Lakewood Health System - Motley Clinic	A	1,180	75.9%	70.9%	1.07			
Lakewood Health System - Pillager Clinic	A	1,432	76.4%	70.8%	1.08			
Lakewood Health System - Staples Clinic	▼	923	62.3%	69.2%	0.90			
Life Medical	•	749	67.2%	68.7%	0.98			
M Health Fairview Center for Women Edina	▼	3,163	71.5%	74.2%	0.96			
M Health Fairview Clinic Andover	A	5,059	76.9%	74.1%	1.04			
M Health Fairview Clinic Apple Valley	A	3,957	76.8%	74.0%	1.04			
M Health Fairview Clinic Bass Lake	•	1,938	75.1%	73.6%	1.02			
M Health Fairview Clinic Blaine	▼	2,251	70.5%	73.2%	0.96			
M Health Fairview Clinic Brooklyn Park	•	4,159	71.0%	70.8%	1.00			
M Health Fairview Clinic Burnsville	A	6,147	81.8%	74.9%	1.09			
M Health Fairview Clinic Chisago City	•	2,340	77.0%	74.8%	1.03			
M Health Fairview Clinic Columbia Heights	A	3,687	75.0%	70.8%	1.06			
M Health Fairview Clinic Cottage Grove	▼	2,878	72.6%	75.3%	0.96			
M Health Fairview Clinic Downtown St. Paul	A	4,765	79.4%	74.8%	1.06			
M Health Fairview Clinic Eagan	A	4,954	80.7%	74.1%	1.09			
M Health Fairview Clinic Eden Prairie	•	4,365	74.3%	74.6%	1.00			
M Health Fairview Clinic Edina	A	5,952	83.6%	75.0%	1.11			
M Health Fairview Clinic Elk River	A	2,332	76.8%	73.5%	1.05			
M Health Fairview Clinic Farmington	•	994	75.5%	73.3%	1.03			
M Health Fairview Clinic Fridley	A	4,048	79.8%	72.5%	1.10			
M Health Fairview Clinic Grand Avenue	A	1,888	74.2%	71.1%	1.04			
M Health Fairview Clinic Hiawatha	•	3,378	72.1%	71.7%	1.01			
M Health Fairview Clinic Highland Park	•	2,613	72.2%	72.6%	0.99			
M Health Fairview Clinic Hugo	•	1,483	72.7%	74.4%	0.98			
M Health Fairview Clinic Integrated Primary Care	•	195	61.0%	62.4%	0.98			
M Health Fairview Clinic Lake Street	▼	1,149	64.4%	68.9%	0.93			
M Health Fairview Clinic Lakeville	A	1,618	79.1%	74.6%	1.06			
M Health Fairview Clinic Lino Lakes	•	2,500	75.9%	74.3%	1.02			
M Health Fairview Clinic Maplewood	▼	2,097	61.7%	72.2%	0.85			
M Health Fairview Clinic Milaca	•	1,698	71.4%	71.9%	0.99			

COLORECTAL CANCER SCREENING								
2020 report year (2019 dates of service) CLINIC	Performance	Patients	Actual Rate	Expected Rate	Actual / Expected Ratio			
STATEWIDE AVERAGE		1,419,934	73.2%					
M Health Fairview Clinic New Brighton	A	2,547	75.5%	71.9%	1.05			
M Health Fairview Clinic North Branch	•	3,458	70.8%	72.9%	0.97			
M Health Fairview Clinic Oakdale	A	3,687	77.4%	73.5%	1.05			
M Health Fairview Clinic Oxboro	A	5,217	78.5%	74.1%	1.06			
M Health Fairview Clinic Pine City	•	1,156	70.2%	71.7%	0.98			
M Health Fairview Clinic Princeton	A	3,969	77.4%	73.4%	1.05			
M Health Fairview Clinic Prior Lake	A	2,453	84.9%	75.0%	1.13			
M Health Fairview Clinic Rice Street	▼	2,297	55.4%	64.5%	0.86			
M Health Fairview Clinic Riverside	•	1,820	72.9%	71.6%	1.02			
M Health Fairview Clinic Rogers	A	1,184	79.4%	74.5%	1.07			
M Health Fairview Clinic Roselawn	•	2,019	64.2%	62.9%	1.02			
M Health Fairview Clinic Rosemount	A	2,139	81.9%	75.4%	1.09			
M Health Fairview Clinic Roseville	•	951	70.5%	72.1%	0.98			
M Health Fairview Clinic Savage	•	1,189	71.2%	74.1%	0.96			
M Health Fairview Clinic Tamarack	•	1,752	73.5%	73.9%	0.99			
M Health Fairview Clinic Uptown	A	2,301	81.6%	71.0%	1.15			
M Health Fairview Clinic Vadnais Heights	A	2,882	80.6%	75.7%	1.07			
M Health Fairview Clinic Woodwinds	•	3,539	75.5%	75.4%	1.00			
M Health Fairview Clinic Wyoming	•	5,933	73.5%	74.1%	0.99			
M Health Fairview Clinic Xerxes	A	2,478	78.1%	74.5%	1.05			
M Health Fairview Clinic Zimmerman	•	2,197	74.3%	73.3%	1.01			
M Health Fairview Walk In Clinic Mall of America	▼	55	18.2%	70.4%	0.26			
M Health Fairview Clinic Midway	A	2,703	79.8%	73.6%	1.08			
M Health Fairview Clinic Stillwater	•	1,559	77.1%	74.6%	1.03			
Madelia Community Hospital & Clinic	▼	636	49.8%	71.7%	0.70			
Mankato Clinic - Daniel's Health Center		1,116	77.4%	72.4%	1.07			
Mankato Clinic - Lake Crystal	•	349	67.1%	73.4%	0.91			
Mankato Clinic - Main Street	A	5,424	80.9%	71.9%	1.13			
Mankato Clinic - Mapleton		487	79.9%	73.4%	1.09			
Mankato Clinic - North Mankato	A	2,689	81.3%	71.9%	1.13			
Mankato Clinic - Wickersham Campus	A	3,218	83.3%	71.9%	1.16			
Mayo Clinic - Baldwin Building, Family Medicine		4,424	83.1%	74.8%	1.11			
Mayo Clinic - Baldwin Building, Primary Care Internal Medicine	A	11,700	82.4%	74.8%	1.10			
Mayo Clinic - Kasson	•	2,396	74.5%	75.5%	0.99			
Mayo Clinic - Northeast	A	3,920	84.3%	75.0%	1.12			
Mayo Clinic - Northwest	A	2,692	82.5%	74.7%	1.10			
Mayo Clinic - Speciality Practice	A	19,805	82.5%	75.0%	1.10			
Mayo Clinic Health System Albert Lea	▼	6,489	70.2%	72.6%	0.97			

COLORECTAL CANCER SCREENING									
2020 report year (2019 dates of service)									
CLINIC	Performance	Patients	Actual Rate	Expected Rate	Actual / Expected Ratio				
STATEWIDE AVERAGE		1,419,934	73.2%						
Mayo Clinic Health System Austin	A	6,889	75.8%	72.8%	1.04				
Mayo Clinic Health System Belle Plaine	▼	631	64.0%	74.7%	0.86				
Mayo Clinic Health System Blooming Prairie	•	62	71.0%	73.4%	0.97				
Mayo Clinic Health System Cannon Falls	▼	2,308	72.7%	75.7%	0.96				
Mayo Clinic Health System Fairmont	•	4,072	73.1%	73.5%	0.99				
Mayo Clinic Health System Faribault Campus Location	•	2,214	72.4%	73.6%	0.98				
Mayo Clinic Health System- Franciscan Healthcare in Caledonia	•	733	70.0%	74.2%	0.94				
Mayo Clinic Health System- Franciscan Healthcare in LaCrescent	A	657	84.5%	75.1%	1.12				
Mayo Clinic Health System Janesville	•	299	68.2%	74.8%	0.91				
Mayo Clinic Health System Kenyon	•	159	69.2%	75.0%	0.92				
Mayo Clinic Health System Lake City	▼	1,630	71.1%	75.5%	0.94				
Mayo Clinic Health System Lake Crystal	•	279	69.9%	74.9%	0.93				
Mayo Clinic Health System Lamberton	•	54	72.2%	76.0%	0.95				
Mayo Clinic Health System Le Sueur	•	1,066	75.1%	73.9%	1.02				
Mayo Clinic Health System Mankato Eastridge	A	5,620	76.0%	73.3%	1.04				
Mayo Clinic Health System Mankato Northridge	A	2,302	78.3%	73.8%	1.06				
Mayo Clinic Health System Mankato Specialty Clinic	•	1,240	77.0%	74.2%	1.04				
Mayo Clinic Health System Montgomery	▼	795	69.4%	73.9%	0.94				
Mayo Clinic Health System New Prague	▼	1,476	71.7%	75.6%	0.95				
Mayo Clinic Health System New Prague Women's Health Center	•	92	57.6%	73.1%	0.79				
Mayo Clinic Health System New Richland	▼	571	58.1%	74.7%	0.78				
Mayo Clinic Health System Owatonna	A	8,995	76.5%	73.8%	1.04				
Mayo Clinic Health System Plainview	•	745	75.0%	75.8%	0.99				
Mayo Clinic Health System Red Wing	•	7,430	74.9%	74.6%	1.00				
Mayo Clinic Health System Red Wing in Zumbrota	•	956	72.4%	74.5%	0.97				
Mayo Clinic Health System Sherburn	•	145	82.8%	73.3%	1.13				
Mayo Clinic Health System Springfield	•	774	72.1%	73.7%	0.98				
Mayo Clinic Health System St. James	▼	1,705	61.2%	72.9%	0.84				
Mayo Clinic Health System St. Peter	A	2,038	79.0%	74.2%	1.06				
Mayo Clinic Health System Trimont	•	88	63.6%	72.2%	0.88				
Mayo Clinic Health System Truman	•	58	63.8%	73.1%	0.87				
Mayo Clinic Health System Waseca	•	1,776	72.0%	73.5%	0.98				
Mayo Clinic Health System Waterville	•	369	68.8%	74.8%	0.92				
Mayo Clinic Health System Wells	▼	458	64.2%	73.6%	0.87				

COLORECTAL CANCER SCREENING								
2020 report year (2019 dates of service)								
CLINIC	Performance	Patients	Actual Rate	Expected Rate	Actual / Expected Ratio			
STATEWIDE AVERAGE		1,419,934	73.2%					
Mayo Family Clinic Southeast	A	2,680	80.8%	74.9%	1.08			
Meeker Memorial Clinic	•	455	70.6%	74.5%	0.95			
Metropolitan Obstetrics and Gynecology - Gallery		2,233	72.0%	72.9%	0.99			
Professional Building		2,233	12.070	12.570	0.33			
Mille Lacs Health System - Garrison	▼	280	43.9%	72.7%	0.60			
Mille Lacs Health System - Hillman	▼	204	51.0%	70.7%	0.72			
Mille Lacs Health System - Isle	▼	887	56.6%	69.1%	0.82			
Mille Lacs Health System - Onamia	▼	1,062	53.8%	68.0%	0.79			
Minnesota Women's Care	•	668	68.1%	72.2%	0.94			
Minnesota Women's Care Burnsville	•	219	66.7%	73.5%	0.91			
Native American Community Clinic	▼	612	27.0%	60.1%	0.45			
Neighborhood HealthSource - Central Clinic	▼	618	28.5%	58.2%	0.49			
Neighborhood HealthSource - Fremont Clinic	▼	619	31.5%	54.1%	0.58			
Neighborhood HealthSource - Sheridan Clinic	▼	285	40.7%	58.6%	0.70			
North Memorial Health - Minnetonka Medical Center	•	2,674	70.8%	74.3%	0.95			
North Memorial Health Clinic - Blaine	▼	5,495	66.2%	74.6%	0.89			
North Memorial Health Clinic - Brooklyn Center	▼	1,294	64.1%	68.2%	0.94			
North Memorial Health Clinic - Brooklyn Park	•	2,244	71.4%	72.9%	0.98			
North Memorial Health Clinic - Camden	•	1,262	68.9%	67.0%	1.03			
North Memorial Health Clinic - Downtown Minneapolis	•	1,001	61.5%	70.5%	0.87			
North Memorial Health Clinic - Elk River	▼	1,980	65.1%	73.9%	0.88			
North Memorial Health Clinic - Fridley	▼	3,526	65.5%	73.6%	0.89			
North Memorial Health Clinic - Golden Valley	▼	2,539	69.8%	73.3%	0.95			
North Memorial Health Clinic - Maple Grove	▼	801	55.6%	72.9%	0.76			
North Memorial Health Clinic - New Hope	•	2,926	74.1%	73.9%	1.00			
North Memorial Health Clinic - Roseville	▼	1,310	56.3%	72.1%	0.78			
North Memorial Health Clinic - St. Anthony	•	4,278	73.1%	74.0%	0.99			
North Memorial Health Internal Medicine - Maple Grove	A	5,918	77.7%	75.8%	1.02			
North Memorial Health Specialty Clinic - Executive Health	•	81	75.3%	73.7%	1.02			
North Valley Health Center	▼	60	56.7%	74.9%	0.76			
Northfield Hospital + Clinics - Farmington Clinic	▼	558	59.9%	73.6%	0.81			
Northfield Hospital + Clinics - Lakeville Clinic	▼	515	58.1%	73.4%	0.79			
Northfield Hospital + Clinics - Lonsdale Clinic	▼	575	67.1%	73.8%	0.91			
Northfield Hospital + Clinics - Northfield Clinic	▼	1,307	71.0%	74.4%	0.95			

COLORECTAL CANCER SCREENING								
2020 report year (2019 dates of service) CLINIC	Performance	Patients	Actual Rate	Expected Rate	Actual / Expected Ratio			
STATEWIDE AVERAGE		1,419,934	73.2%					
Northfield Hospital + Clinics - Women's Health	•	230	46.5%	72.4%	0.64			
Center	Y	230	46.5%	12.490	0.04			
NorthPoint Health & Wellness Center	▼	3,939	48.3%	52.7%	0.92			
Northwest Family Physicians - Crystal	▼	3,166	47.4%	71.4%	0.66			
Northwest Family Physicians - Plymouth	▼	1,954	59.7%	75.5%	0.79			
Northwest Family Physicians - Rogers	▼	1,711	51.4%	73.9%	0.69			
Oakdale Obstetrics & Gynecology, PA - Maple Grove	▼	2,605	69.8%	73.6%	0.95			
OBGYN West - Chaska	▼	152	59.9%	73.6%	0.81			
OBGYN West - Eden Prairie	▼	896	65.3%	74.4%	0.88			
OBGYN West - Ridgedale	▼	1,102	68.6%	73.9%	0.93			
OBGYN WEST - Waconia	▼	34	44.1%	73.8%	0.60			
Obstetrics & Gynecology Specialists - Burnsville	A	1,022	82.5%	72.9%	1.13			
Obstetrics & Gynecology Specialists - Edina	A	816	80.9%	73.1%	1.11			
Obstetrics, Gynecology and Infertility - Edina	A	1,000	96.5%	73.8%	1.31			
Obstetrics, Gynecology and Infertility - Maple Grove	A	1,174	96.0%	73.6%	1.30			
Olmsted Medical Center - Byron Clinic	▼	1,001	56.9%	70.6%	0.81			
Olmsted Medical Center - Cannon Falls	▼	639	44.9%	71.1%	0.63			
Olmsted Medical Center - Chatfield Clinic	▼	626	53.5%	72.5%	0.74			
Olmsted Medical Center - Hospital	▼	190	53.7%	67.1%	0.80			
Olmsted Medical Center - Lake City	▼	667	12.3%	71.9%	0.17			
Olmsted Medical Center - Pine Island Clinic	▼	609	63.1%	71.6%	0.88			
Olmsted Medical Center - Plainview Clinic	▼	439	57.2%	70.4%	0.81			
Olmsted Medical Center - Preston Clinic	▼	787	55.8%	70.6%	0.79			
Olmsted Medical Center - Rochester Northwest	▼	2,721	55.1%	69.8%	0.79			
Olmsted Medical Center - Rochester Southeast	▼	6,115	60.7%	69.4%	0.87			
Olmsted Medical Center - Skyway Clinic	▼	358	57.8%	67.3%	0.86			
Olmsted Medical Center - Spring Valley Clinic	▼	627	43.9%	69.2%	0.63			
Olmsted Medical Center - St. Charles Clinic	▼	607	63.3%	71.2%	0.89			
Olmsted Medical Center - Stewartville Clinic	▼	1,049	50.9%	69.6%	0.73			
Olmsted Medical Center - Wanamingo Clinic	▼	250	47.6%	68.6%	0.69			
Open Cities Health (Dunlap) - Family Medicine	▼	1,175	22.6%	56.1%	0.40			
Open Cities Health Center (North End)- Family Medicine	•	479	16.1%	55.5%	0.29			
Open Door Health Center	▼	625	39.5%	57.5%	0.69			
Ortonville Area Health Services-Northside Medical Clinic	A	1,414	80.5%	72.2%	1.11			
Osakis Medical Clinic, A Service of Alomere Health	A	691	81.6%	73.5%	1.11			
Park Nicollet Clinic - Bloomington	•	4,881	74.8%	75.5%	0.99			

COLORECTAL CANCER SCREENING									
2020 report year (2019 dates of service)									
CLINIC	Performance	Patients	Actual Rate	Expected Rate	Actual / Expected Ratio				
STATEWIDE AVERAGE		1,419,934	73.2%						
Park Nicollet Clinic - Brookdale	•	6,016	70.6%	71.3%	0.99				
Park Nicollet Clinic - Burnsville	A	10,026	79.9%	75.1%	1.06				
Park Nicollet Clinic - Carlson	A	6,933	81.0%	76.4%	1.06				
Park Nicollet Clinic - Champlin	A	1,494	79.3%	74.2%	1.07				
Park Nicollet Clinic - Chanhassen	•	9,616	76.8%	76.0%	1.01				
Park Nicollet Clinic - Creekside	▼	864	60.8%	72.5%	0.84				
Park Nicollet Clinic - Eagan	A	6,165	80.0%	75.3%	1.06				
Park Nicollet Clinic - Eden Prairie	A	4,175	83.4%	76.2%	1.09				
Park Nicollet Clinic - Golden Valley	A	3,571	79.9%	74.9%	1.07				
Park Nicollet Clinic - Lakeville	▼	1,069	67.6%	73.8%	0.92				
Park Nicollet Clinic - Maple Grove	A	5,821	78.7%	75.4%	1.04				
Park Nicollet Clinic - Minneapolis	▼	3,787	65.8%	69.2%	0.95				
Park Nicollet Clinic - Plymouth	•	6,211	75.7%	76.2%	0.99				
Park Nicollet Clinic - Prior Lake	•	3,251	74.1%	74.8%	0.99				
Park Nicollet Clinic - Rogers	•	1,103	77.9%	74.6%	1.04				
Park Nicollet Clinic - Shakopee	A	5,500	78.7%	73.8%	1.07				
Park Nicollet Clinic - Shorewood	A	2,434	80.0%	76.4%	1.05				
Park Nicollet Clinic - SmartCare	A	1,375	78.3%	74.5%	1.05				
Park Nicollet Clinic - St. Louis Park Family Medicine	•	9,314	73.0%	74.1%	0.98				
Park Nicollet Clinic - St. Louis Park Internal Medicine	A	11,163	84.8%	76.1%	1.11				
Park Nicollet Clinic - Target Health and Well-Being Center	•	365	72.6%	70.9%	1.02				
Park Nicollet Clinic - Target Health and Well-Being Center North	•	169	63.3%	71.8%	0.88				
Park Nicollet Clinic - Wayzata	•	4,812	76.8%	76.7%	1.00				
Park Nicollet Clinic - Women's Services	▼	1,963	55.7%	72.6%	0.77				
Parkway Family Physicians	▼	62	50.0%	73.1%	0.68				
Perham Health Clinic	•	2,092	72.8%	73.2%	0.99				
Perham Health New York Mills Clinic	•	753	74.4%	73.7%	1.01				
Perham Health Ottertail Clinic	•	252	68.3%	70.2%	0.97				
Planned Parenthood Minnesota, North Dakota, South Dakota - Duluth	•	40	0.0%	60.9%	0.00				
Planned Parenthood Minnesota, North Dakota, South Dakota - Minneapolis	•	100	0.0%	60.6%	0.00				
Planned Parenthood Minnesota, North Dakota, South Dakota - Rice Street	•	59	0.0%	60.1%	0.00				
Planned Parenthood Minnesota, North Dakota, South Dakota - Richfield	•	45	0.0%	62.8%	0.00				

COLORECTAL CANCER SCREENING									
2020 report year (2019 dates of service)									
CLINIC	Performance	Patients	Actual Rate	Expected Rate	Actual / Expected Ratio				
STATEWIDE AVERAGE		1,419,934	73.2%						
Planned Parenthood Minnesota, North Dakota,	_	33	0.0%	57.1%	0.00				
South Dakota - Rochester	•	33	0.070	31.170	0.00				
Planned Parenthood Minnesota, North Dakota,	_	39	0.0%	55.4%	0.00				
South Dakota - St Cloud	·	33	0.070	33.170	0.00				
Planned Parenthood Minnesota, North Dakota,	▼	42	0.0%	60.8%	0.00				
South Dakota - Vandalia	·	.2	0.070	00.070	0.00				
Prairie Ridge Hospital & Health Services - Elbow	▼	797	47.6%	72.2%	0.66				
Lake		-							
Prairie Ridge Hospital & Health Services - Evansville	▼	35	31.4%	72.3%	0.44				
Prairie Ridge Hospital & Health Services - Morris	—	761	57.3%	73.7%	0.78				
Rainy Lake Medical Center - Rural Health Clinic	*	952	59.7%	70.2%	0.85				
Rainy Lake Medical Center Clinic - Littlefork	V	198	55.6%	71.7%	0.77				
Rainy Lake Medical Center- Specialty	•	59	57.6%	70.6%	0.82				
Randall Lakes Area Clinic	•	78	76.9%	68.8%	1.12				
Range Regional Health Services dba Fairview									
Mesaba Clinic - Hibbing	•	3,834	72.8%	70.8%	1.03				
Range Regional Health Services dba Fairview		1.510	76.50/	74 70/	4.07				
Mesaba Clinic - Mountain Iron	A	1,619	76.5%	71.7%	1.07				
Range Regional Health Services dba Fairview		025	75 70/	72.00/	1.05				
Mesaba Clinic - Nashwauk	•	935	75.7%	72.0%	1.05				
Renville County Hospital and Clinics - Hector	•	521	71.8%	73.2%	0.98				
Renville County Hospital and Clinics - Olivia	•	863	70.6%	72.8%	0.97				
Renville County Hospital and Clinics - Renville	▼	317	57.7%	72.9%	0.79				
Richfield Medical Group	•	2,041	73.1%	75.5%	0.97				
Ridgeview Arlington Clinic	•	421	67.7%	71.3%	0.95				
Ridgeview Belle Plaine Clinic	▼	385	56.9%	73.6%	0.77				
Ridgeview Chanhassen Clinic	A	3,178	80.5%	76.0%	1.06				
Ridgeview Chaska Clinic	•	1,079	77.2%	75.2%	1.03				
Ridgeview Delano Clinic	▼	2,043	71.1%	75.3%	0.95				
Ridgeview Excelsior Clinic	A	1,232	79.4%	75.6%	1.05				
Ridgeview Gaylord Clinic	•	286	67.1%	68.9%	0.97				
Ridgeview Henderson Clinic	•	302	69.5%	71.7%	0.97				
Ridgeview Howard Lake Clinic	V	514	67.9%	74.8%	0.91				
Ridgeview Westonka Clinic	V	2,679	69.8%	75.3%	0.93				
Ridgeview Winsted Clinic	V	592	66.6%	73.7%	0.90				
Ridgeview Winthrop Clinic	•	213	76.1%	68.3%	1.11				
RiverView Clinic	•	1,903	61.0%	71.1%	0.86				
Riverwood Aitkin Clinic	•	3,087	74.1%	73.1%	1.01				

COLORECTAL CANCER SCREENING 2020 report year (2019 dates of service)								
CLINIC	Performance	Patients	Actual Rate	Expected Rate	Actual / Expected Ratio			
STATEWIDE AVERAGE		1,419,934	73.2%					
Riverwood Garrison Clinic	V	302	65.2%	73.5%	0.89			
Riverwood McGregor Clinic	•	1,285	68.3%	71.5%	0.95			
Sanford Aberdeen Clinic		3,595	78.3%	74.1%	1.06			
Sanford Bagley Clinic	▼	953	64.3%	69.0%	0.93			
Sanford Bemidji 1611 Anne St Clinic - Family		1 200	72.0%	71.4%	1.01			
Medicine		1,380	12.0%	71.4%	1.01			
Sanford Bemidji Main Clinic - Family Medicine	A	4,819	77.9%	72.0%	1.08			
Sanford Bemidji Main Clinic - Internal Medicine		1,665	83.0%	74.4%	1.12			
Sanford Bemidji Main Clinic - OB/GYN	•	211	65.4%	70.4%	0.93			
Sanford Blackduck Clinic		803	78.1%	71.5%	1.09			
Sanford Boyden Clinic	•	53	79.3%	75.1%	1.05			
Sanford Brandon Clinic	▼	712	68.8%	75.6%	0.91			
Sanford Canby Clinic	•	980	75.9%	73.9%	1.03			
Sanford Canton Clinic	•	819	72.9%	73.3%	0.99			
Sanford Cass Lake Clinic	•	439	63.1%	67.5%	0.94			
Sanford Chamberlain Clinic	•	489	69.7%	68.1%	1.02			
Sanford Clear Lake Clinic	•	377	70.3%	74.1%	0.95			
Sanford Clearbrook Clinic	•	184	59.8%	67.7%	0.88			
Sanford Clinic Lake Park - Family Medicine	▼	48	29.2%	73.5%	0.40			
Sanford East Grand Forks Clinic	▼	2,230	64.4%	72.9%	0.88			
Sanford Edgerton Clinic	•	238	75.6%	71.9%	1.05			
Sanford Fargo Broadway Clinic - Family Medicine Residency	•	554	74.0%	73.5%	1.01			
Sanford Fargo Broadway Clinic - Internal Medicine	A	1,594	85.5%	76.1%	1.12			
Sanford Fargo Broadway Clinic - OB/GYN	▼	126	53.2%	73.6%	0.72			
Sanford Fargo Integrative Medicine Clinic - Family Medicine	•	503	77.7%	74.4%	1.04			
Sanford Fargo Integrative Medicine Clinic - Internal Medicine	•	221	67.0%	75.2%	0.89			
Sanford Fargo Internal Medicine Residency Clinic	▼	424	61.3%	72.6%	0.84			
Sanford Fargo North Fargo Clinic	A	2,636	76.3%	73.9%	1.03			
Sanford Fargo Southpointe Clinic - Family Medicine	A	5,163	77.5%	74.2%	1.04			
Sanford Fargo Southpointe Clinic - Internal Medicine	A	5,331	83.2%	75.7%	1.10			
Sanford Fargo Southpointe Clinic - OB/GYN	▼	278	64.8%	72.8%	0.89			
Sanford Fargo Veterans Square Clinic - Family Medicine	•	267	62.9%	73.4%	0.86			
Sanford Hartley Clinic	▼	130	54.6%	72.8%	0.75			
Sanford Hawley Clinic	•	591	71.9%	74.5%	0.97			

COLORECTAL CANCER SCREENING									
2020 report year (2019 dates of service)									
CLINIC	Performance	Patients	Actual Rate	Expected Rate	Actual / Expected Ratio				
STATEWIDE AVERAGE		1,419,934	73.2%						
Sanford Health 32nd & Ellis Women's Clinic	•	153	73.2%	72.1%	1.02				
Sanford Health Adrian Clinic	•	487	77.4%	73.4%	1.05				
Sanford Health Alexandria Broadway Clinic	▼	3,567	68.6%	74.1%	0.93				
Sanford Health Beresford Clinic	▼	344	61.9%	73.5%	0.84				
Sanford Health Brookings Clinic	•	1,631	72.5%	73.2%	0.99				
Sanford Health Clark Clinic	▼	418	58.6%	73.5%	0.80				
Sanford Health Detroit Lakes Clinic	•	3,664	75.0%	73.3%	1.02				
Sanford Health Edgeley Clinic	•	174	78.2%	75.2%	1.04				
Sanford Health Ellendale Clinic	▼	145	53.1%	73.3%	0.72				
Sanford Health Enderlin Clinic	•	350	70.6%	75.2%	0.94				
Sanford Health Estelline Clinic	•	172	65.1%	72.6%	0.90				
Sanford Health Forman Clinic	•	135	68.2%	74.9%	0.91				
Sanford Health Gwinner Clinic	▼	282	56.7%	75.2%	0.76				
Sanford Health Halstad Clinic	▼	165	58.8%	72.8%	0.81				
Sanford Health Hartford Clinic	•	704	76.0%	75.0%	1.01				
Sanford Health Hillsboro Clinic	▼	872	66.6%	74.9%	0.89				
Sanford Health Ipswich Clinic	•	360	76.9%	74.5%	1.03				
Sanford Health Jamestown Clinic	•	4,176	75.7%	74.5%	1.02				
Sanford Health Kelliher Clinic	•	129	75.2%	69.7%	1.08				
Sanford Health Lake Norden Clinic	•	158	63.9%	72.6%	0.88				
Sanford Health LaMoure Clinic	•	285	68.8%	74.0%	0.93				
Sanford Health Lennox Clinic	▼	209	62.7%	74.3%	0.84				
Sanford Health Lidgerwood Clinic	▼	209	61.2%	73.9%	0.83				
Sanford Health Lisbon Clinic	•	248	69.8%	74.9%	0.93				
Sanford Health Mahnomen Clinic	•	453	68.2%	69.7%	0.98				
Sanford Health Mitchell Clinic	▼	567	56.6%	72.3%	0.78				
Sanford Health Mountain Lake Clinic	▼	504	66.3%	72.2%	0.92				
Sanford Health Oakes Clinic	•	596	71.1%	74.9%	0.95				
Sanford Health Park Rapids Clinic- Family Medicine	▼	406	41.9%	73.9%	0.57				
Sanford Health Parkers Prairie Clinic	▼	326	61.7%	73.3%	0.84				
Sanford Health Pelican Rapids Clinic	•	769	73.0%	73.7%	0.99				
Sanford Health Pierre Clinic	A	1,013	77.6%	71.4%	1.09				
Sanford Health Twin Valley Clinic	▼	310	61.3%	70.7%	0.87				
Sanford Health Ulen Clinic	•	125	75.2%	72.6%	1.04				
Sanford Health Valley City Clinic	▼	2,004	71.6%	75.7%	0.95				
Sanford Health Vermillion Clinic	▼	985	65.4%	69.4%	0.94				
Sanford Health Wahpeton Clinic	▼	2,966	66.0%	74.2%	0.89				
Sanford Health Walker Clinic	▼	1,611	60.0%	72.0%	0.83				
Sanford Health Watertown Clinic	•	2,593	72.1%	73.2%	0.98				

COLORECTAL CANCER SCREENING									
2020 report year (2019 dates of service) Actual /									
CLINIC	Performance	Patients	Actual Rate	Expected	Expected				
				Rate	Ratio				
STATEWIDE AVERAGE		1,419,934	73.2%						
Sanford Health Wheaton Clinic	•	493	69.0%	73.4%	0.94				
Sanford Health Windom Clinic	▼	491	61.7%	71.6%	0.86				
Sanford Jackson Clinic	▼	964	67.4%	74.0%	0.91				
Sanford Kimball Clinic	•	49	69.4%	72.2%	0.96				
Sanford Lakefield Clinic	•	483	70.2%	74.1%	0.95				
Sanford Luverne Clinic	A	1,860	78.9%	72.2%	1.09				
Sanford Mayville Clinic	•	1,005	71.8%	75.4%	0.95				
Sanford Moorhead Clinic - Family Medicine	A	1,782	79.3%	73.5%	1.08				
Sanford Moorhead Clinic - Internal Medicine	A	2,877	84.0%	75.1%	1.12				
Sanford Moorhead Clinic - OB/GYN	•	75	57.3%	72.5%	0.79				
Sanford Rock Rapids Clinic	•	1,134	74.0%	75.2%	0.98				
Sanford Sanborn Clinic	▼	290	60.0%	75.0%	0.80				
Sanford Sheldon Clinic	▼	1,943	70.6%	73.7%	0.96				
Sanford Sioux Falls 26th & Sycamore Family		2.704	72.20/	72.10/	1.00				
Medicine Clinic	•	2,784	73.2%	73.1%	1.00				
Sanford Sioux Falls 32nd & Ellis Family Medicine		2 207	75.60/	72.70/	1.00				
Clinic	•	3,387	75.6%	73.7%	1.03				
Sanford Sioux Falls 34th & Kiwanis Family Medicine	_	2.720	76.70/	74.20/	1.00				
Clinic	A	2,729	76.7%	74.3%	1.03				
Sanford Sioux Falls 49th & Oxbow Family Medicine		2 211	02.60/	74.40/					
Clinic	A	3,211	82.6%	74.4%	1.11				
Sanford Sioux Falls 4th & Sycamore Family		2.146	76.10/	72.20/	1.04				
Medicine Clinic		2,146	76.1%	73.2%	1.04				
Sanford Sioux Falls 69th & Louise Family Medicine		022	76.00/	72.00/	1.00				
Clinic		822	76.2%	73.8%	1.03				
Sanford Sioux Falls 69th & Minnesota Family		4.067	04.40/	74.50/	1.00				
Medicine Clinic		4,067	81.1%	74.5%	1.09				
Sanford Sioux Falls Internal Medicine Clinic	A	4,840	87.6%	76.3%	1.15				
Sanford Sioux Falls Obstetrics & Gynecology Clinic	•	903	75.2%	72.7%	1.03				
Sanford Sioux Falls Women's Internal Medicine	A	2,116	86.8%	75.7%	1.15				
Sanford Thief River Falls Clinic	▼	3,908	69.4%	73.3%	0.95				
Sanford Tracy Clinic	•	708	67.8%	72.4%	0.94				
Sanford Webster Clinic	▼	772	69.2%	73.8%	0.94				
Sanford West Fargo Clinic - Family Medicine	A	3,190	78.0%	75.5%	1.03				
Sanford West Fargo Clinic - OB/GYN	▼	127	55.1%	72.4%	0.76				
Sanford Westbrook Clinic	•	613	75.0%	74.0%	1.01				
Sanford Worthington Clinic	•	2,034	70.2%	71.3%	0.98				
Sanford Worthington OB/GYN Clinic	•	42	66.7%	69.3%	0.96				
Sawtooth Mountain Clinic, Inc	▼	1,880	62.6%	73.3%	0.85				

COLORECTAL CANCER SCREENING									
2020 report year (2019 dates of service)									
CLINIC	Performance	Patients	Actual Rate	Expected Rate	Actual / Expected Ratio				
STATEWIDE AVERAGE		1,419,934	73.2%						
Scandia Clinic	_	487	52.0%	72.2%	0.72				
Scenic Rivers Health Services - Big Falls	•	91	62.6%	66.8%	0.94				
Scenic Rivers Health Services - Bigfork	▼	1,310	56.7%	72.7%	0.78				
Scenic Rivers Health Services - Cook	▼	1,262	51.1%	72.7%	0.70				
Scenic Rivers Health Services - Floodwood	▼	161	42.2%	69.8%	0.61				
Scenic Rivers Health Services - Northome	•	236	67.8%	69.4%	0.98				
Scenic Rivers Health Services - Tower	▼	339	32.5%	70.1%	0.46				
Sleepy Eye Medical Center	▼	1,161	59.2%	73.9%	0.80				
Southdale Obstetric and Gynecology Consultants- Edina	A	3,014	80.9%	74.7%	1.08				
Southside Medical Clinic	A	556	58.5%	51.7%	1.13				
St Luke's Clinics-Bay Area	▼	375	59.5%	72.2%	0.82				
St Luke's Clinics-Chequamegon Clinic	▼	2,226	54.9%	71.0%	0.77				
St Luke's Clinics-Denfeld	▼	1,294	58.7%	69.8%	0.84				
St Luke's Clinics-Hibbing Family Medical Clinic	▼	2,893	52.9%	70.8%	0.75				
St Luke's Clinics-Internal Medicine Associates		5,269	79.0%	74.2%	1.06				
St Luke's Clinics-Laurentian	▼	1,985	58.0%	70.7%	0.82				
St Luke's Clinics-Lester River	•	1,011	72.6%	73.3%	0.99				
St Luke's Clinics-Mariner Medical Clinic	•	1,676	73.7%	72.5%	1.02				
St Luke's Clinics-Medical Arts Clinic	▼	1,035	63.6%	70.2%	0.91				
St Luke's Clinics-Miller Creek	▼	1,243	67.3%	73.3%	0.92				
St Luke's Clinics-Mount Royal	•	2,600	74.5%	73.7%	1.01				
St Luke's Clinics-OB-GYN	▼	491	57.6%	71.2%	0.81				
St Luke's Clinics-P.S. Rudie Medical Clinic	A	2,484	82.6%	71.9%	1.15				
St. Croix Regional Medical Center - Frederic Clinic	▼	359	52.1%	71.0%	0.73				
St. Croix Regional Medical Center - Lindstrom Clinic	▼	1,018	61.9%	74.6%	0.83				
St. Croix Regional Medical Center - St. Croix Falls Clinic	•	5,532	67.6%	73.6%	0.92				
St. Croix Regional Medical Center - Unity Clinic	▼	524	60.9%	72.1%	0.84				
St. Croix Regional Medical Center - Webster Clinic	▼	1,517	51.4%	72.8%	0.71				
St. Elizabeth's Medical Center - Wabasha Community Clinic	•	1,587	69.1%	74.8%	0.92				
Starbuck Medical Center	▼	121	48.8%	73.7%	0.66				
Stellis Health - Albertville-St. Michael Clinic	▼	988	70.2%	74.6%	0.94				
Stellis Health-Buffalo Clinic	•	5,947	73.4%	75.0%	0.98				
Stellis Health-Monticello Clinic	•	3,709	72.3%	74.4%	0.97				
Stevens Community Medical Center	▼	1,399	43.5%	74.0%	0.59				
Stevens Community Medical Center - Starbuck Clinic	•	269	28.3%	73.2%	0.39				

COLORECTAL CANCER SCREENING								
2020 report year (2019 dates of service) CLINIC	Performance	Patients	Actual Rate	Expected Rate	Actual / Expected Ratio			
STATEWIDE AVERAGE		1,419,934	73.2%					
Swift County Benson Health Services-Rural Health Clinic	▼	1,519	66.3%	71.8%	0.92			
Tri-County Health Care - Bertha Clinic	•	164	70.1%	70.2%	1.00			
Tri-County Health Care - Henning Clinic	V	623	65.8%	72.2%	0.91			
Tri-County Health Care - Ottertail Clinic		402	67.4%	73.4%	0.92			
Tri-County Health Care - Sebeka Clinic	•	175	64.6%	70.8%	0.91			
Tri-County Health Care - Wadena Clinic	V	2,790	66.6%	71.3%	0.93			
Tri-County Health Care- Verndale Clinic	•	71	62.0%	70.7%	0.88			
Tyler Medical Clinic - Avera	V	467	48.6%	73.4%	0.66			
United Family Medicine	V	4,212	54.4%	66.2%	0.82			
University of Minnesota Health - Fairview Maple			82.9%					
Grove Medical Center		1,726	82.9%	74.7%	1.11			
University of Minnesota Health - Mill City Clinic	•	1,641	75.2%	74.1%	1.01			
University of Minnesota Health - Primary Care Center	A	3,846	81.5%	73.1%	1.12			
University of Minnesota Health - Smiley's Family Medicine Clinic	•	1,232	59.6%	65.8%	0.91			
University of Minnesota Health - Women's Health Specialists Clinic	•	1,307	73.5%	73.1%	1.01			
University of Minnesota Physicians - Bethesda Family Medicine Clinic	•	1,367	55.5%	61.9%	0.90			
University of Minnesota Physicians - Broadway Family Medicine Clinic	•	1,018	46.2%	59.4%	0.78			
University of Minnesota Physicians - Phalen Village Family Medicine Clinic	•	1,004	55.3%	65.1%	0.85			
Voyage Healthcare - Crystal	_	2,296	71.1%	74.3%	0.96			
Voyage Healthcare - Maple Grove	•	4,583	73.1%	74.8%	0.98			
Voyage Healthcare - Osseo	•	3,948	74.7%	75.4%	0.99			
Voyage Healthcare - Plymouth	•	4,689	73.4%	74.6%	0.98			
Welia Health Hinckley	_	687	59.8%	70.8%	0.85			
Welia Health Mora	*	3,518	68.7%	72.1%	0.95			
Welia Health Pine City	<u> </u>	1,729	60.4%	71.7%	0.84			
West Side Community Health Services - East Side	▼	2,464	30.8%	56.4%	0.55			
Family Clinic West Side Community Health Services - La Clinica	▼	2,665	40.0%	51.3%	0.78			
West Side Community Health Services - McDonough Homes Clinic	•	526	24.9%	58.4%	0.43			
Western OB/GYN	A	849	81.0%	74.5%	1.09			
Western OB/GYN - Chanhassen	•	45	71.1%	75.0%	0.95			

COLORECTAL CANCER SCREENING 2020 report year (2019 dates of service)									
CLINIC	Performance	Patients	Actual Rate	Expected Rate	Actual / Expected Ratio				
STATEWIDE AVERAGE		1,419,934	73.2%						
Western OB/GYN - Chaska		658	85.4%	74.5%	1.15				
Western OB/GYN - Delano	•	36	75.0%	74.1%	1.01				
Westfields Clinic	•	4,101	76.5%	74.9%	1.02				
Winneshiek Medical Center - Mabel Clinic	▼	226	57.5%	74.2%	0.77				
Winona Health - Rushford Clinic	▼	319	43.0%	71.7%	0.60				
Winona Health - Winona Clinic	▼	8,261	63.4%	72.8%	0.87				
Zumbro Valley Health Center - Family Medicine	▼	72	1.4%	60.3%	0.02				